4-2  MGE 13.0 | Joints

30x30 Joint 30x30

@ - designLINE

Esp

For movable or rigid profile connections at any angle
Swivel range 182°

With a 15° graduation

Locking by clamping (5 Nm) or fixing with pins (15 Nm)
designLINE version with special silver paint (RAL 9006)
for an attractive, high-quality design

» Profile finishing:

vVvyVvyyvyy

— 3 842 535 583

\@ Through hole D11 for end face profile connections

| 3ox30 DBl Required accessories:
Bolt connector D11 for end face connections

00139179

30x30 FaxLy 1000 Joint 30x30 Slot ESD No. FS
182° (;\I(;?)), L Standard 8 (& 3842502683 2xFS1,
g~ e 7 F3y | 4xFS2
I ] o | | E 1 designLINE 8 (& 3842538683 2xFS1,
2 of © - AxFS2
N 50
v — Material: Standard: diecast zinc
18] B 30x30 designLINE: painted, RAL 9006
030 . / Fastening material: steel, galvanized,
[ e e e I e chromated transparent
00109550 O 5 f (mm) Scope Of
delivery: Incl. fastening material (FS)
FS1 FS2 ) F1 (N)| F2(N)
F
] DIN 7984 DIN 934 E‘ 10 000 600
[ mex12 s =F1
— 8
N N

Bosch Rexroth AG, 3842 540 392 (2013-02)



40x40, 45x45

Joints | MGE 13.0 4-3

Joint 40x40, 40x40 support,
45x45, 45x45 support

() [

EsD

vvyYwvyy

designLINE

using a clamping lever (5 Nm)
» designLINE version with special silver paint (RAL 9006)
for an attractive, high-quality design

For movable or rigid profile connections at any angle
Swivel range 180°

With a 15° graduation
Clamping and convenient adjustment of “support” joint

~ 40x40
45x45
00139178
40x40 & F1 (N)| F2 (N) Joint 40x40 Slot ESD No. FS
F2
180° | ] 15 000| 1 000 Standard 10 (& 3842543401 2xFS3,
~ I = F1 2xFS4
0 1'!'1 0 0L choo HI _J
NN ] designLINE 10 (& 3842538684 2xFS3,
© I 2xFS4
< ‘ l FaxLj 1000 Material: Standard: diecast aluminum
NI @ | (Nm) designLINE: painted, RAL 9006
LU T UJ U 100 L . . .
B ﬂ o Fastening material: steel, galvanized,
040 A * chromated transparent
00116468 { ‘ Scope of
SOE 240x40 delivery: Incl. fastening material (FS)
FS3 FS4 ]
&2 MB8x16 : E
i $12x30 E
= 10 (O s s e e
N ) 0 5  f(mm)
40x40 support F1 (N)| F2 (N) Joint 40x40 support Slot ESD No. FS
F2
180° ! 15 000/ 1 000 Standard 10 (@A) 3842543402 2xFS3,
7S =-F1 2xFS4
0 rﬁ'\ n I
[EI ' designLINE 10 (& 3842538685 2xFS3,
2 2xFS4
< Fax Ly 1000 Material: Standard: diecast aluminum
00 R | (Nm) designLINE: painted, RAL 9006
U U U 100 L . . .
‘4" B v_FS—l o Fastening material: steel, galvanized,
040 A * chromated transparent
00116469 { ‘ Scope of
50; 40x40 delivery: Incl. fastening material (FS)
FS3 FS4 E
<= M8x16 ; ] Clamping lever No.
M S12x30 A
L 0] For joint 40x40 support 3842 516 847
@10 TTTT T T T T TTT
0 5 f (mm) Material: Diecast zinc, black polymer coating

Bosch Rexroth AG, 3842 540392 (2013-02)



4-4

MGE 13.0 | Joints

Bosch Rexroth AG, 3842 540 392 (2013-02)

45x45 (27 F1 (N)| F2(N) Joint 45x45 Slot ESD No. FS
F2
180° I 15000/ 1000 Standard 10 (A 3842543403 2xFS3,
~ S 2
n M Lm0 xFS4
| |
| HH”H”W | designLINE 10 (@A 3842538686 2xFS3,
K%?)a - IXFS4
4 N~
3 FaxL 1000 Material: Standard: diecast aluminum
T (Nm) L designLINE: painted, RAL 9006
=S 100 Fastening material: steel, galvanized,
3 F3g|
045 . chromated transparent
00130487 { A Scope of
50:: 45x45 delivery: Incl. fastening material (FS)
FS3 FS4 ]
LB, V816 ; E
‘n‘ S12x30 b
= 10 [ B e -
0 5 f (mm)
45x45 support F1 (N)| F2 (N) Joint 45x45 support Slot ESD No. FS
F2
180° 3 15,000, 1000 Standard 10 (@& 3842543404 2xFS3,
R HI@-H 2xFS4
| H”H“H HH | designLINE 10 (& 3842538687 2xFS3,
% o 2xFS4
N N~
3 FaxL 1000 Material: Standard: diecast aluminum
M (Nm) L designLINE: painted, RAL 9006
rog v 100+ ‘Tsl o Fastening material: steel, galvanized,
045 E ¢ chromated transparent
00130488 { Scope of
50 45x45 delivery: Incl. fastening material (FS)
FS3 ]
<= M8x16 E Clamping lever No.
M [T s12x30 E -
L o For joint 45x45 support 3 842 538 607
@10 TTTT T TTTTTTT
0 5 f (mm) Material: Diecast zinc, black polymer coating



Joint 60x45, 60x60

(&) [

EsD

designLINE

Joints | MGE 13.0 4-5

For movable or rigid profile connections at any angle
Swivel range 182°
With a 15° graduation

The joint can be adjusted using a clamping lever.

designLINE version with special silver paint (RAL 9006)
Profile finishing:
Thread cutting (M12) in central bore for end connection

>
>
>
» Locking by clamping (5 Nm) or fixing with pins (15 Nm)
>
>
>

M12
——60x60
60x45
00109548
60x45 (27 ) F1 (N)| F2 (N) Joint 60x45 Slot ESD No. FS
° F
. % . L h 1 | 3 15 000| 1 000 Standard 10 (& 3842502688 2xFS5,
[ellile] 3 HII i 2D
! ‘ designLINE 10 (& 3842539799 2xFS5,
L a - | B% I 2xFS6
(o))
R g ‘ FaxL, 1000 Material: Standard: diecast zinc
oo < ; (Nm) : designLINE: painted, RAL 9006
Al | 1002 VTF3 ﬂ Fastening material: steel, galvanized,
60 45 A chromated transparent
0109552 { 5 A Scope of
50:: 60x45 delivery: Incl. fastening material (FS)
FS5 FS6 ]
(=1 DIN 7984 DIN 7984 ] Clamping lever
M12x40 M8x20 A
10 ol - For joint 60x45 3842505 144
—~ DIN 125 T LT, - - - -
A8 .4 0 5 f (mm) Material: Diecast zinc, black polymer coating
GOX?gZO (27 - F1 (N)| F2 (N) Joint 60x60 Slot ESD No. FS
= ] 20 000/ 1100 Standard 10 (& 3842502687 2xFS5,
[olliilie] \ I=sigg 2:Fs6
! | designLINE 10 (& 3842539800 2xFS5,
| _ - i 2xFS6
»
I u“’)n ‘ FaxL 1000 Material: Standard: diecast zinc
‘@”“H H“H@‘ < (Nm) L designLINE: painted, RAL 9006
i ] {r = F3- “_¢ Fastening material: steel, galvanized,
60 60 100 i chromated transparent
19141 E Scope of
E 60x60 delivery: Incl. fastening material (FS)
FS5 FS6 507
3 DIN 7984 DIN 7984 E i
M12x40 MIBX20 ] Clamping lever
L 10 Oi - For joint 60x60 3842505 144
DIN 125 U T T - - - -
‘ A8,4 0 5 f (mm) Material: Diecast zinc, black polymer coating

Bosch Rexroth AG, 3842 540392 (2013-02)



	PEM-MGE 13.0 EN
	Basic Mechanic Elements 13.0
	Explanations
	Table of contents
	The Rexroth modular system – safe, reliable, and individual
	Multi-talented product range
	Application-based solutions for all industries
	Excellent planning reliability thanks to a professional, worldwide network
	MTpro – planning software
	Individual planning, efficient construction, multiple benefits
	Strut profiles
	Connection elements
	Joints
	Air-supply elements
	Feet and wheels
	Support of surface elements
	Doors and fittings
	Accessories for protective barriers
	Protective barriers and partition walls EcoSafe
	Installation elements
	Elements for manual movement
	Linear guides
	Tools
	FiFo station
	Components for lateral guides
	Components for ESD applications
	Proximity switches and switch brackets
	Technical data
	Material Number Overview
	Index



